Balancing Chemical Equations + Lawel tvpe of reackyn
Balance the following equations

1) _ HgO — _Hg + _ 0

2) __HCl+ _Mg > _H o+ MgCl,

) _CHi+ 0, »  cops _H,0

D _CHpOs  +_ 0y _I_COg + _ HO

35 _Hy + _ O 5 _H0

6) _H o+ _ Ny 5 __NH;

H_NO+ 0, - No,

8) _ ALO, - Al + 0,
9 _Ca0+ M0 caomy,

10) Hydrogen gas reacts with todine to produce hydroiodic acid.

11) Sulfur reacts with Oxygen to produce sulfur dioxide.
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12) Calcium acetate reacts with sodium carbonate to produce calcium carbonate and
sodium acetate.

13)Iron combines with oxygen and water to form iron (III) hydroxide

14) Sulfur trioxide is bubbled through water to produce sulfuric acid

15) Copper-bottomed cooking pans turn black because copper combines with oxygen

to form copper (II) oxide.

16) Magnesium hydroxide neutralizes stomach acid, HCI, to produce magnesium
chloride and water.
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